R—RI3AL 7 OERH

F—=RT 3/ F 1215/1512
F—RAOERPETEEELAREATERY,
REP12 DFE—REE [2V K- No8 Efzld X v ¥ 27K—Z Nog]
REP15 DFE—RZHE [V 22K~ No10 Fzld X v ¥ 27K—2Z No10]
REQ12DFE—REREQ15 DR—REREEHR

@15 IR

@12 I3RS @12 IR

1)K —2X No8 1)K —ANol10
Bl 2 R—RADEH

K—RXT 3LV bpIx @15
BB TOR— ADEBRHTEET,

AR @9 BITOERTTEE
[V HR—Z No6)] [#v<ar—Z No6] [FiEIA—X No3]

RE @15 QITOFERTTEE
[£)3aYFR—Z No10)] [£v<r25FK—Z No10) [FEE!FR—Z No1l

@9 IS @15 [T

R—=RVa14be9x @12
KB TDR— ADERHTEET .

AR 9 fITOERTTEE
[)avrR—ZNo6)] [Av<a15K—Z No6) [FEEAE—ZX No3)

RE@12 QITOERREE

[V2aYFKR—ZNo8 [#va17K—Z No8] [RiEE—2X No2]

@9 IS @12 ISR




K= 34>k 90°

DI aAY MIERT B ETINPTVBATE 90° DHETHE—AOMYELEITS T EH
AEETY. REYMXESM Ty THHD%. 912299 DF—ADEHRETETY .

AU—=T 9

R—=RIaAVk90°
P9IX9

[ 3> ER—Z Nob6)
[#v<27K"—2Z No6)
[FZE! 74— R No3]

(ko

AY=Tp12

R—=RIaALVFk90°
®12x12

[ 32 7R—2X No8]
[£Xv<27R—2Z No8]
(A8 —X No2)

(k5

AU—=T 9

A)—=T 12

R—RT a1 k90
P9Ix12

[ 3> ER—X No6)
[Awa27R—2Z Nob6)
(A& AR—X No3]

[k —2Z No8]
[#v < 27R—Z No8]
[FEBYF— X No2]




